\/

REV MCO DWN DATE
40023779MCO 07-AUG-15
40023779MCO 22-AUG- 16
|'E] . .
AT TACH VERTICAL CABLE GUIDE PRIOR TO CHASSIS INSTALLATION
NV megisiioinn
— [
] 2.00 REF
PART LIST
= 17.00 - ITEM DESCRIPTION OTY
001 CLAMP YOKE 4
< 23.00 -
002 | GROMMET, CABLE CLAMP .70 | 2 /
CABLE ENTRIES 003 | GROMMET, CABLE CLAMP .60 | 2
TOP VIEW (BOTH SIDES)
004 | GROMMET, CABLE CLAMP .50 | 2
005 | GROMMET, CABLE CLAMP .40 | 2
, N ’ T q © © 006 CLAMP COVER )
A . D ©| e o o o Vo
3 COMMSCOPE I|B3|l 3 ﬁ(@/ 0
-~ — 3 1o REF o . . [ 007 CLAMP SCREW A
O oo T0 O > 008 SCREW 12-24X.5 4
Q — oren o ‘L @] © 6 o o o e o T
\ —— — m J . q © © © 009 #12 WASHER 4| N
010 WASHER 8
FRONT VIEW = 12.00 REF = 011 10-32 MACHINE SCREW ”
012 GROUND WASHER 2
013 6-32 SCREW 8
[ ] RIGHT VIEW 015 CLAMP YOKE 2
0 |
0] ® A
S 2 Alte: Sl ol ol do S 3
o o | s o 016 CABLE CLAMP COVER |
S = ]l : ol olo S 017 SCREW 6-32X3/4 2
\ E=— = — | 018 |  CABLE CLAMP BRACKET |
019 SCREW 6-32,.250 POU 2
NOTES. 020 STANDOFF ?
FRONT VIEW - 2RU WITH 23" MOUNTING BRACKETS : 021 WASHER FLAT 1/4 SS )
(96 POS ADAPTER PLATES SHOWN FOR REFERENCE) | PANEL CAN BE MOUNTED AT 2", 5" OR 8" DEPTHS IN 19" OR 23"
SLOT REF 023 GROUNDING TERMINAL 2
2. REMOVE VERTICAL CABLE GUIDE FOR 2" RECESS MOUNT.
024 SPIRAL WRAP 4FT
. . $ 3. CABLE CLAMP IS INCLUDED WITH CHASSIS (0.4 - 0.7) 0.D. 029 Vee ”
- S 4| POLYCARBONATE FRONT DOOR. 026 CABLE SHIELD 2
© ® |75 REF —
- — 10
S S 5] USE FOR CABLE RIBBON ENTRY. 027 LDGE PROTECTOR
% — 028 | SHIELD MOUNTING BRACKET
(6] VCG SYSTEM CAN ONLY BE INSTALLED WHEN THE MOUNTING 0729 5-32. 250 SCREW J 4
o0 rer BRACKETS ARE ON 5" OR 8" POSITIONS.
REAR VIEW 69 | © 2016 COMMSCOPE, INC.CONFIDENTIAL TITLE
R T R pD ¥ Ge FIcATIONS INSTALLATION DWG
O AR M0 MATRDE DSED QNLY, RO, THE FPX 2RU AFA 12" DEPTH
COMMSCOPE, INC.
ALL DIMS AND TOLERANCES .XXZ:I:N/A C DRAWING NUMBER D
COMMSCOPE, INC. s ncres wicss ™ amznn | (b 300100105893
Encr. HECTOR URERNO
o
DO NOT SCALE DRAWING [EMSE TR LT SHT oF 3
A . /I\ C g DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION



A 3 NV C D

\/

PANEL GROUNDING
EACH PANEL HAS A GROUNDING LOCATION MARKED WITH THE STANDARD GROUNDING
SYMBOL. THIS LOCATION IS ON THE RIGHT SIDE OF THE PANEL AS SHOWN IN FPX 2RU PANEL
DIAGRAM. USE THE TWO #10-32 GROUND SCREWS (ITEM O11) AND TWO #10 STAR WASHERS
(ITEM 012) PROVIDED TO CONNECT A #6 COPPER GROUNDING CABLE TO THE PANEL. GROUND
THE UNIT TO THE LOCAL FACILITY GROUND BUS PER LOCAL PRACTICE. A TWO-HOLE GROUNDING
LUG IS SHOWN IN FIGURE FOR REFERENCE.
ALL PANEL IS BUILDING WITH SCREWS THREAD-FORMING WITH NIBS IN ORDER TO CUT
THE PAINT AND GROUND ALL WALLS OF PANEL.
NOTES:
| . GROUND THE UNIT TO THE LOCAL FACILITY CBN (COMMON BONDING NETWORK) OR IBN
(ISOLATED BONDING NETWORK) PER LOCAL PRACTICE.
: ; i : 2. GROUND SCREWS ARE TO BE TORQUED AT 40 IN-LIB
AT TACH mﬁ GUIDE mﬂl)sm mmua%
N2 rvmppingiiodusn 3. THE FIBER PANEL NEXT GENERATION 1S DESIGNED TO BE INSTALLED IN AN
ENVIRONMENTALLY CONTROLLED NETWORK TELECOMMUNICATIONS FACILITY
E% H SUCH AS A CENTRAL OFFICE, CONTROLLED ENVIRONMENTAL VAULT, OR DATA CENTER.
Ne—N
1\/ |‘ (SHENS00 SAVHL R ONOVT 3A0M3H)
o _J:;r’ @
lirfimsizg
T —— @l ] ¢
2 [ [ BT [0 (s ©
\A.q,/] - 4 o < ‘
:EJ\II-\%_.,‘%LE' ;) © <
s SNz D
A= 0
SEE DETAIL A
ISO REAR VIEW
SHOWN WITH COVERS REMOVED
2-HOLE LUG
TERMINAL
DETAIL A
SCALE  1.300
HOLE CENTER GROUNDING LOCATION
STRIP BACK INSULATION 4
PER LUG MANUFACTURER'S
RECOMMENDAT ION
© 2016 COMMSCOPE, INC.CONFIDENTIAL TITLE
R T R pD ¥ Ge FIcATIONS INSTALLATION DWG
GROUND CABLE AND 2-HOLE LUG TERMINAL SPECTEIC pundost auThonT2ed. TN WATTHG 51 FPX 2RU AFA 12" DEPTH
ALL DIMS AND TOLERANCES ,XXZ:I:N/A C DRAWING NUMBER D
COMMSCOPE, INC. |s:c ncres pwess & coocsni | 300100105893
Encr. HECTOR URERNO
DO NOT SCALE DRAWING Sun: ASAREL SALCEDO SHT. 2 oF 3

A\ Eﬂ VAN <: {EEEEEE} DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION



OF

INCHES
PROJECTION

IN

SHT.

—
[}
o
-
_|
(e
Lol
GD o
W“ 9
O ou %
- Lo
<] S =
= | o
<C Lt
[an]
o 22
o 22
3 T O 63
b — =
2 WO >< g
Y = O mnn
y @ — e |5
/,lt?‘ \ “ O
N o = »
= 4 N . —
) I
O
P b, = |35
) _ — V% E= ~~~
= // & <= |HHH
= \ S 2 | iis
) o) anE S o= > > <
A= (A A 22 Zz | =3
e C05a= 2
o> g ) Lo T u— <
awm>wm
4 ca=—8
e 2
4 v CS%YM -
| C,GD.AH
\; == =+
TEZa=
L=

ASAHEL SALCEDO

g DIMENSIONS
THIRD ANGLE

HECTOR URENO

DWN:

DO NOT SCALE DRAWING ENGR:

/Lﬁ,ﬁ_
\J22

150

DETAIL D

SCALE

009

008

C

SEE DETAIL

0.800

B

DETAIL B

SCALE

SEE DETAIL

/N

COMMSCOPE, INC.




	Sheet 1
	Views
	new_view_8
	new_view_9
	new_view_10
	new_view_11
	new_view_12
	new_view_13


	Sheet 2
	Views
	new_view_33
	A


	Sheet 3
	Views
	new_view_39
	B
	C
	new_view_42
	new_view_44
	new_view_47



